HANGER BOLT M8x1.25

N 2 0020000 —

—_—

]
©2.00
[50.80]

0.94 2.60
_ [24.00] [66.00]
WOOD ATTACHMENT
HANGER BOLT M8x1.25 LAG SHIELD 3/8" X 1 3/4"

U

———

]
©2.00
[50.80]

AR [HHEHALT

0.94 2.60
[2400] | [66.00]

—~t

MASONARY ATTACHMENT

@ INnline Design  SKu: HBWA.005, HBWA.006, HBWA.011, HBWA.012, HBWA.013 MOUNTING OPTIONS  UNITS: INCHES/[MM|

PROPRIETARY AND COPYRIGHT THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF INLINE DESIGN. ANY REPRODUCTION IN PART OR AS A WHOLEWITHOUT THE WRITTEN PERMISSION OF INLINE DESIGN IS PROHIBITED

2 1

REVISION: 1.0




i TOGGLE BOLT M8x1.25

]
©2.00
[50.80]

STEEL STUD ATTACHMENT

@ INnline Design  SKu: HBWA.005, HBWA.006, HBWA.011, HBWA.012, HBWA.013 MOUNTING OPTIONS  UNITS: INCHES/[MM|

REVISION: 1.0

PROPRIETARY AND COPYRIGHT THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF INLINE DESIGN. ANY REPRODUCTION IN PART OR AS A WHOLEWITHOUT THE WRITTEN PERMISSION OF INLINE DESIGN IS PROHIBITED

2 ]



Gaskets

]
©2.00
[50.80]

M8x1.25 STUD

GLASS ATTACHMENT

CURVED WASHER FOR 1.67IN / 42.4MM DIAMETER TUBE

STEEL ATTACHMENT

@ INnline Design  SKu: HBWA.005, HBWA.006, HBWA.011, HBWA.012, HBWA.013 MOUNTING OPTIONS  UNITS: INCHES/[MM|

PROPRIETARY AND COPYRIGHT THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF INLINE DESIGN. ANY REPRODUCTION IN PART OR AS A WHOLEWITHOUT THE WRITTEN PERMISSION OF INLINE DESIGN IS PROHIBITED REVISION: 1.0

2 ]



	Sheet1
	Drawing View24
	Drawing View25
	Drawing View34
	Drawing View38

	Sheet1(3)
	Drawing View35
	Drawing View36

	Sheet1(2)
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View33


